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Fill'in the blank with an appropriate form of the verb given in brackets to make it @ meaningful senENCE:
She  (hand) me a picture of sloppily drawn bitthday cake last year.
(1)~ Have handed (2)  Had handed (3)  Handing @ Handed
2. Fill in the blank with an appropriate form of the verb given in brackets to make it a meaningful SEUege
(pull) out my caleulator before 1 added up all the money.

!
@ Had pulled (2)  Have pulled (3) Pulled (47 Had been pulled

3. Which of the following sentences is incorrect with reference to reported speech?
(1) The waiter asked if we wanted a table near the window,
(2)  The teacher asked the students how they wanted to the activity.
Shamir enquired where was the bus station,
4~ The guard wamed us not to enter the area.

<

)
-
A

QV

4. Identify the correct passive form of the verb from the options g%w to fill in the blank in the following

senience.
A nation (hold) together by shared beliefs attitudes.
@ Is held (2) Were held N beenheld (4) tobe hold

5. Fillin the blank with an appropriate verb that agr ith the subject in the following sentence.

One of the most important secrels 1a,success » instead of being against something, be for

something.
@ Is 2) Are (3 Has (4)  Does
(‘4.
6.  Which of the runowing*@ an incorrect spelling?
(1) ACCOMM «7)  VACUUM
(3) EMBARRAS @ JUDGEMENT

the grammatically incorrect sentence in passive voice from the options given below,
fhese windows in my room really need 1o be cleaned soon.

2)% The President is hoping to be elected for u second term.

&7 Sheela and Swathi might huve been invited o the party.

@ Raveendra hus asked o make o presentation at the meeting by his team leader.

7.

g  Fillin the blank with correct preposition in the following sentence.
Great innovators believe that logic and imagination shake hands —____ each othey,
with 40 To 3 Of 4 on

G ;. N
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g,  Whatis the meaning of the idiom ‘turn the elock back'?

@ To restore something to a former condition
(2) To waste time

(3) Totum off the alarm clack
(4)  Todo things with a jet speed in future

10. identify the correct form of the following sentence to be con verted to direct speech.
“They told us that they would start the admission process the following day."

“We will start the admission process tomorrow,"” they told us.

(2) We told them, “They will start the admission process tomorrow.”
(3) “We would start the admission process the next day,” they told us.
) We told them, “We had to start the admission process tomorrow.”

11. Fillin the blank with an appropriate article in the following sentence.

1 2 : e
Past glory and education don’t count for much. We have to continuously sharpen _ ax

@ A @ e 3 A 4) No article is required

12. Identify the correct idiom which means ‘accurate information’?
Chapter and verse (2) Closed chapter
(3) Dead and buried (4)  Caught in the crossfire

13. Fill in the blank with correct preposition in the following sentence.
He gaped some developed countries in wonder for their vast materialistic progress.

() a (2) Away (3) On (4) Over

14.  Fill in the blank with an appropriale article in the following sentence.

People without conviction do not take stand.

@ A (2) An

(3)  No article is required (4) The
15, Fill in the blank with an appropriate form of the verb given in brackets to make it a meaningful sentence.
Unless you (read) today, you cannot be a perfect person tomorrow.
(1) Are reading @ Read (3) Had read (4)  Have read

16 Fill in the blank with an appropriate pronoun that agrees with the subject in the following sentence.

The biggest achievement of Digital India has been tremendous success in ensuring digital

inclusion for all in India.
(1) Is (2) Are (3) Has (4) Does

e = T
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17.  Identify the correct synonym of the underlinedwerddnishedfollowin g sentence.
“Illustrious people seem to light up everything around them.’
@ Eminent (2)  Obscure (3)  Notorious (4)  Obsessed

18.  Fill in the blank with correct preposition in the following sentence.

Steve Jobs said, “Innovation distinguishes a leader and a follower.”
@ Between (2)  From (3) On (4)  About

19.  Identify the correct antonym of the underlined word in the following sentence.

He was fishing for a squid with pals in shallow water.

(1)  Shoal (@ Superficial  ((3)) Deep (4)  Skin-deep
20.  Identify the word with correct spelling from the options given below.

@ MANOEUVRE (2)  PRONOUNCIATION

(3) CONSCIENSCIOUS (4) CHANGABLE

Read the passage given below and answer the questions (from 21 to 25) that follow :

The beginning of this fun-filled season with the sun hidden behind the grey clouds brings cheer to many of us waiting
eagerly to splash in the rains, Ofcourse not everything about rain is glamorous. Especially when you think abou
endless traffic jams, the bad roads dotted with potholes, uncleared garbage and the spate of water borne diseases
Also viral infections like cold and cough make their presence felt.

Most infectious diseases prevalent in the rainy season can be prevented by simply washing our hands regularly
Scrubbing hands regularly with water and soap can prevent us from contacting respiratory and diarrheal diseases.

Kids have a lower level of immunity and hence hand washing becomes a crucial part of their lifestyle. When playing
especially during monsoon season kids come into contact with germs and can unknowingly become infected simpl)
by touching their nose, eyes or mouth. The Food and Drug Administration states that the human influenza virus ca
survive on surfaces for up to eight hours, making people susceptible to catching it each time they touch the infecte:
surface, Hence repeated hand washing is required.

To make the best of the rainy séason we should follow some simple guidelines. First of all if we decide to get wet
rains we should change intoa dry set of clothes at the earliest. Also we should keep raw food items at bay and was
vegetables and fruits thoroughly before use. Moreover, strict kitchen hygiene should be maintained in order to enji’
one of the most beautiful seasons of the year. Also, in order to have a trouble free rainy season home made fresh foc
should be given preference over the fast food sold in the market. :

21, People wait for the rains since they can in it.
@ splash (2)  have potholed roads
(3)  spate of water borne diseases (4)  endless traffic jams
22. Besides maintaining kitchen hygiene we should s0 as to keep us disease free in the rainy season
@ avoid raw fruits (2) enjoy raw fruits
(3) nvuidE_E_E_If]_b_IES_______ (4)  consume more fruits and vegetables g
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Adler geting wet in rains we should put on dry clothes

1) as late ax possible wf whenever we like o

i 1 i )
@ HER M h' as T"'F'l.\*lll"-ii: 4} when we fall sick

The passage suggesis that small childs aRhsald waah theii |‘|.i'|l1'n!"‘ - In the riny season since Ihr.jr

have lower immunity.
@ frequently @) rarely (3) after every meal (4)  before every meal

I'he word in the passage which means the same as ‘prone and yulnerable’ 15

(1) dotred pr hygiene @ susceptible

(4) influenza

L -
Let A, B,C.D represent the marks of four students respectively. If the average of AB.C 5510? B.C.Dis

2 : | ) 2
3=; C.D,Ais lzg;an-::l DA BIS ll;:ﬂxcn SMC-B)=

4

1
A,B.C.D 565t Senhth dighe Srdpol SrdFroihete i, BCo Godfy S 107
1 2
B.C,D & G3&), ;6&:.:13%: C.D,A ®© G :ﬁmm? S58aH DA B © o), :mrie.nn;u-mﬁ

S\C-B)=
(1) D+A-B-C (2) 3AD-A)—~(B+C)

{3y 24-D D=4A

Let n be a positive integer and n < 193. If n and 193 are coprime numbers, then the sum of all possible values

ofnis;: -

nmmwdomﬁiﬁé} HHHoare. 1 00 '?.“”nﬁ?é@'ﬁ&;'iﬁ?‘{”_?ﬂjﬂﬂa-ﬂ'ﬂl
Seude ol S8 |

@ 18528 (2) 18336 (3) 18527 4y 6240

. - - in a particular month towards wages of his From the remaining
;::‘::;c@;%?ﬂi ?:f:ﬁih;:m; "’“‘P:“n‘: 40% towards his f“'"“ﬁ cxpense:ol-f ﬁzn saved the balance
amounitof Rs.50,000 in a bank. Then the total amount he spent towards wages and rent is (in Rupees) :

o 8 Ssameacnint 2 DO B08° @SB HAYS TS 20% 0D 565 e 508 ) IS B
B, ergfoss® DonDS 6" 1047 ST BED S0a%) 40 ey ek emoes o T
S, @ Edsames DAOS 50,000 ErraSOD THBE iy Favsy, wand e IS0
530 emchorids SOpoD Bnelo Arisay (raraed)

(1) 25,000 (12 35.000 (3) 40000 @ 75000
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. . - Ny =
19, Wa:b: 3:4, bre=4:5a+ 2 =55and 3b-c= 35then 3a +2h—¢

a3 ab=3:4. bro=4:5a+2h

il
T 'r.-..:‘@ 60 {2y 45
.
"0
»

The distance between two stations A and B is 480 km. A car start

55 ZoBasw 3~ = 35eond a+ b - =

(3) 50 4) 75

i
ed from A. But its speed 1s reduced by
reaching the destination B is increased

Rk

-~ 30,
LV Ms
6 L
ﬁ*x'»"'i.._ Boch Hmen A S8k B © S35 Erto 480 8.Dv.en. 2.8 56
e . < o Stfo o0 Arertes Stfo Lobd oD 20 8,00 TR Shod 20
“T et S0S0 Lol 2 foben BBACB. wand 1 HAIFETS HE Aaetes 57 SFHG(

&
@ 6 @ s+ 3 8
2

cw
31. The day of the week on 5* September 1887 was

i

20 kmph than it’s usual speed due to road traflic and the usual time of
by 2 hours. Then the usual duration of the total journey is (in hours)

A 5008 wcHendoed; 520 8 erhs So

aoﬁnsaﬁaﬁ:@géufméarﬁmmo
Kotoerds®) :

I
4 (7=
(4) 2

(1)  Sunday (2) Monday (3) Tuesday (4) Saturday
1887 2Qoeb 55 BB & FF ol & 8% :
(1) ©Bado @ Ao () Soigte  (4) 4o

A started a business by investing Rs. 5,25,000. At the end of 5™ month from the commencement of the business
R joined A by investing Rs. 4,32,000 and at the end of 8" month from start of the business C joined both A

and B by investing Rs. 6,30,000. If C's share in the profit at the end of the year is Rs. 50,000 and A’s share is

32.

Rs. & more than B's share then ¥ =

5,25,000 drarabe depads® A wE argaroR)) drdodoard. argRroRl)) ArBoBoDSHES Hod 5D
Srrosods® 4,32,000 Erarabe BenadE A & B Sod 5080k gt drdoao Sod 85 Srdrosod”
6,30,000 SsrdrofHio Denads® A HBak B o’ C So7. Soddyorodo &80 rzfoes® C arese 50,000

drarahen Sobafn A arér B arér ofd r drdrahen Sy 3e8, x =
(1) 60,000 @) 75,000 (3) 50,000 65,000

33. A Cando a work in 6 days and B can do the same work in 9 days. A and B along with a third person € can
finish that work in 3 days. If the total wages for the work is Rs. 24,000 then the wages of Cis (in Rupcei-} :

A a8 DIV 6 Bered® Sohrio £80n B 08 HAD 9 ered® Iahrec. 4 S08afn B e Sards S35
C & 00 o3 B 3 Fares’® Hyd dahifeth. e HS wdhg deore o 24,000 ErraHBd € Gos;
Je50(drarabed®) ; N

(12,000 (2)  8.000 @ 4,000 4) 6,000

K-13241-P11-ET 6-A l[“"llll"l"
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ach of the inner

e e meters and
ar

4 ers width is made round a circular field
side of the track touches the field at point, If the area of the field is

the cost of forming the trac ;
isRs. 1 eter, then the am
for forming the track is SR uRr e

8 IS Fotlo Soym 0.6 B Setaisgrandiy amtoks 0 80 g $66 BTN = ﬂ":f
3G S0 5 DO BSOS, 2.8 omasssy Do, Heoo Gk, TOFO 61,600 .0 ase:gm*m G
e AQOSEIE 5. DO 100 draraben by wond, T RegoSERS isehs ot
(drarches®)

such that €

61,600 squ :
ount (in Rupees) required

75-32+23x570+15 of 1+{3?—?+5]=

2+(37-7+5) @&, 75-32+23x570+15=

@ 305 {2y 1729 (3) 5041 (4) 1816

A, B, C, D are four persons. A sold an antique to B, B sold it to C and C to D). The price of ﬂmiqﬂﬂf““’d f:;
the whole by 80% when it is bought by D. A earned 25% profit and B earned 20% profit then the profit earn
by Cis: el
A, B, C, D $enthth SgHen. 2.8 $Hordndd B ©A,C HB S8cin D O C Dgowoeth. D E'Rea)y -
Anefo DeS & RS B, 656 80% 1BAA. 25% orgPR) A S0k 20% o) B &Potrth. 90w
C &roldiS erglo :

() 15% @ 20% (3) 30% (4) 35%

The present age of A is thrice the present age of B. 5 years ago, the age of A was square of the age of B at lhlat
time. But 10 years hence, the age of A will be twice the age of B at that time. Then the present age of A (in

ieziél:,;;@eﬁ Sa$Hid0y B Gng), Hes S5 Sareedy Bew. 5 Sodefyore Sefo A Bng), HAHAY eHyed
B Gt Satoiyy Gng), S8 5o 0 B 08 H6 Sodehore S0y, A Ghos, Sy ey
B Gng), SaHanh Soc BED. eooni A Gng), He SaHiy (Hoddyorad®) :

1y 9 (2) 20 (3) 18 30

. S | _
By selling an article with a discount of 25% on its marked price, a trader gets a profit of 12 _1; . If the discount
is 30% on its marked price then the gain percent 00 its cost price is :
1
28 Sy R HEEES (567 25% A0S’ oy 2.8 Trgr0s 12-%. enefo 53308, T SEES SR
&) Shody 30% eand o E%) R Si) o B0 !

|
I .t
(M 10% (2) ?E% (3) 52% 5%

. -
K13241P11.67 7A LTI
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The simple interest on a certain sum for 3 years at 6% per annum is Rs.22,500 and on the same sum for 4 years
at R% per annum simple interest is Rs.40,000. Then the simple interest on the same sum for R years at 7% per

annum is (in Rupees) :

et DB ArSagd DT 6% FHYS 3 BoSehyorerd arthsd 22,500 draraben SO0 e P8R
b R% S5y 4 SoSeEorad erdsd 40,000 draraben. eond od drsayd O 7% FRyS R
HoSehored erdhSE(drdrabes®) ;

(1) 45000 2 50,000 @ 70,000 (4) 80,000

A cylindrical container of inner radius 7 cm contains 6 solid spherical balls, each of radius 7 ¢m. If the top
most ball touches the upper lid of the contniner, then the volume of the empty space in the container is

(in cu.cm) :

7 R90.80.0 90655 g0 (0 2o Hrdreet SvgS, .8, 6,63 7 Ro. L. amgdngo ffer 6 S Fiere=t 2ohad
500 B0, ©eSg0es DHSS dif 230 & el Ang), PRATES YA Eol, o> & SES TP &Y

SrodSo Gl HOBSTEI0(F0.Do.ab.ee8%) ¢
(1y 2156 2) 8624 (3) 6468 4312

It is given that, if two pipes of radii n and r can fill an empty tank in #; minutes and 1 minutes respectively

and the speed of the flow is same in both the pipes then f1° = tar5°. There are three taps of diameters 1 cm,
e cm, and 2 cm respectively. The speed of the water flow through them is same. The widest tap can fill an

empty tank in 45 minutes. If all the taps are opened simultaneously, then in how many hours the empty tank

will be filled?
H, 1y ERgARDERNT e Both rgen e P G5 Sthdrrr ADAren Sk 1 ADAPeST VoHHOA

drods, DE Haede Stfo Soth Mol & e.8er dro] el nn2 =tan’ @ 9SgeESe. SEHe 1 do.d.,
le Po.d. Ho8din 2 Ro.do.w TgRred fe Sued Heronen aTmown. e Siod Sy 0 Haridiro Gk,

Stfo 2.8 Deforr esoenod. TeIS® W Lol Bdendl Hevow a8 PP FEID 45 DApes® Dodiiucd.
23 SHeronen 2,830 S0 oD, ) Hotrwe” & g & Dotheiiod?

12 20
oS (2) —

|
3 25 —
o5 - (3) @ 197

If the HCF of 546, 1155, 462 and 1365 is H and LCM of 252, 504, 108 is L then £ =
H

H @38 546, 1155, 462 508050 1365 & G, o.Am8r H0akn L o 252, 504, 108 & Gng £ O

MEE£=

K-13241-P11-ET 8-A T
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. AT L -~ he same platform in |2 if s
A train can cross a platform in 18 sec with its usual speed. It can o 13 soc it it usnal

| §

RN . _ ! imes that of the train, then the us

speed is increased by 15 kmph, If the length of the platform is 17 ut ual speed
(in kmph) of the train is :

&8 e Foeie Stfod® e PBEISS 18 Defoges® TresiOd- o0 Aerdes SRy ot 15 8, &,

e I
SR oS d FrSIN & Jen Iﬁmﬁﬁﬁwﬁmﬂ-ﬂw&m%bdﬁw l:.!'_
B&ond, Jen g, Averdes Stio (ot 8.8y.06°)

(1) 60 @ 75 @ 85 4) 100

I x= Jiﬂﬁ'ﬂ-:— 3080 + 1"3|]'Eﬂ+....'ﬂmT}r=,a2m bm hmm]ﬂm ﬂ-nd-'-"f}':Z. then Z\\G -
x= J3ﬂ8ﬂ+ 3080+ 3{]Eﬂ+...mm.y=,}2{1}1’2m,lzm_dmm Sobafyx +y =7, EM"IJEJ; =

(1) 64 @ 128 (3) 256 4) 512

A watch loses 5 min in every 24 hours duration and another watch gains 3 min in the same duration. If both
the watches show identical time ‘t” at a particular point of time. then by what time duration (in days) they both
show the same identical time *t’ again in near future 7

58 24 dobye S550E° 2.8 ARG 5 AMIpen EEYHD Sodck &l SgSHS” HFS (dairdo
3 DMdren 72 HEebod. Bocd dAaiIETre &8 A8 Ho0Hos® 2.8 Baho T D S, S
Wummaamwfw&%mwn t' R Spsron ?

(1) 90 /(afg;zﬂ @ 180 4) 240

The divisor of 7280 among the following is :
808 ae3&° 7280 Gk, Breaso :

(1) 119 (2) 264 (3 117 182

A'sumof money invested at interest, compounded annually, amounts o Rs, 7680 in 2 years and Rs. 8192in3
yﬂars Then the sum of money (in Rs,) invested is :

K-13241-P11-ET 9.A T e i
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48. 8 men can do a piece of work in 12 days, 9 women can do the same work in 16 days and 12 children can do it
in 24 days. 6 men, 12 women and 18 children started that work and worked together for 3 days. If only womer
have to complete the remaining work on 4™ day, the number of women required is :

§ 5308 B 2.8 HAD 12 ererd® g Sobiivth: ©d HA 9 H08 Jeo 16 Gered” Aabstiet). 96
53912 08 Dgen 24 Fares® (10 Sabiied. 6 5008 Hhen, 12 £08 e Srbaks 18 500 20
© 53D SoBoDd, Bl K01 3 Earen $3 I, DOHOS HID 45 Fard Sbeo foo Srgid 7L
Banideh 53, ©S0656hg Yo Sopg :

1y 9 @ 54 G) 42 4) 24

Fi 2 oy .: h T
4 2 2 r4 — _2 = s . 1w I < = J Ehite
49, If x,y,zare any three non-zero real numbers such that x" =)y =2.Y =% il

EILNEIR NEW

2 55 RS Dowge:
Hoyt=2tyt — 2% =x2 SoBasw z* -7 =y~ eadlogiotyy éiy) DFee B Ardg

-1 -1 -1
% v,z v wond, (2 +1) +(y?+1) w241 =

1
) Py @ =353 @3 0 I

th s
P " 1 . ralue thu:
50. 0.7 is multiplied by itself and that result is divided by »[;] part of the reciprocal of 0.8 . If the value

obtained isx, then 9\!,_ =

- 2
0.7 % od B belocs $QyS o, 08 ding), gy’ & S ertiod rfoarth. & Deson

SDYS Dendd ¥ ewond oVx =

1 0.5 @ 14 3 0.6 (4) 16
51. Identify the brother of Prataparudra 11 who settled in Bastar district after the fall of Kakatiyas.
(I) Jagadeka deva (2)  Annama deva
(3)  Sudharshana deva (4) Prasaditya deva
seEhatoe HeEr Seestsw b B2 ATdDHGBSDHS) Bodd HE DG AFBE J5H?
(1) estfcde Beds @ BB BHedd
(3) DS A (4)  HRrodg BHich
52. - Who introduced *Nauroz" festival in the court of Delhi sultanate ?
[1 ) Iltutmish (2) Balban
W Adlaudcin ”glii (4)  Ghiyasuddin Tughlag
&2 i & B30005e3 378 T Hotkorsr SIFDES foegeiss 256?
(1) =epeha @) =eps
(3) ogsdSDP (4)  AoirBS e
K-13241-P11-ET 10-A
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e, The exchange g is deg

55,

56,

5.

(1) Floatin €rmi www.sakshieducation.com
¢ ﬂxchange rag orces of demand and supply is known as rate.

(3)  Arbitrary exchange Yite (2)  Fixed exchange rate
&5°0), &5 4 g RO (4)  None of the above

(1) &%eSoh Sroya e 0% 83 st NFonos S8y 56

B)  DEHE SeN 565 ORI
@ IDed

Identify the plays written by Harshay
(1)  Harshacharitra, Charudatia o
(2)  Priyadarshika, Ratnaval; and Naganandan,
(3) Priyadarshika, Ratnavali and Shakuntaly
(4) Kadambari, Shakuntala and Ratnaya];

SRS SoboSin BoHds metiue, (goHsn.
(1) eGS0, orteses So80sy T reiSotstn

@ HADEGE, EEYIP S8y TerESacsituy

(3) DADEGS, BERSP Sobosn THodse

@) Sond, TSose $0aH EEmSD

ardhﬂna_

Plaster of Paris (PoP) is prepared by heating which one of the following mineral at a temperature of 100°C ?

1800 20 3D 100°C &PFFSSH 38 Sassdio orgoe R0 a5 2r05 (PoP) gosrth dabzateiet?
@ CaSO:2H:0 (2) CaSO2H;0  (3) CasO2H:0 (4  CaSO:H:0

Name the Afghan leader who strongly supported Rana Pratap Singh in the battle of Haldighati in 1576.

(1) Hasan Khan Mewati (2).  Hakim Khan Sur
(4) Munim Khan

3)  Nusrat Shah o )
{g 36 15?25;:1:»515@‘ O R cSods’ o7 HED Bohi & DHEOHDHES ©HS TaHHen 6!
9 L85 e Jrb

(1) &o%8 gre Dare

6 S5 W SAHow
. : ] - vilization site does not have Citadel?

Which ous of the follogag LG = S (3)  Surkotada (4) Chanhudaro

(1) Kalibangan (2) Lothal : ,
206850 ABBLSL Ho20fODS O PN (Site) 8% (Citadel) €86 8¢5

o, % §
(1) s®eetS ] () Oy Spoe

Earth’s core is also known as
(1)  Lithosphere (2) Hydrosphere

;sphere
(3)  Mesosphere (4) BarysP

AL @aém‘:}ﬁa’m& &3 DeSorr E3¢s eotTdd L
(1)  Rers8e00 (2) @&

:‘f)ti!-:'an e
) 3w esoa T
“13241.p19.E7 tha
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59.

(

(1
(3

www.sakshieducation.com

As per the constituti i 4 i lotted for Ind
pe itution of India, how many Members of Parliament (MPs) memberships arc allotte L
Parliament ?

(1) 552 (2) 543 @) 529 @) None of the above
&riel Trargotio $5°60 Bwde Y S Bef Fre dagdgswess erdd HBoSD Sronass
22006 7

@ 552 (2) 543 (3) 529 2ED =

What is the theme of Nobel Prize Summit 2023 to be held in May 2023 and where will it be held ?
(1) Bio Diversity & New York City

(2)  Environmental Protection & London

(3)  Truth, Trust and Hope & Washington D.C.

(4)  Disaster Management & Delhi

% 30 2023 HoSesyTos® SBS Py HAYS (J51340) 2023 S VGOS0 &2 S5 g
SES ArorodSn DAY S8k K S G Adgrodaiod ?

(1) 85 3050 (206 Z56y68) SHBaty Srgairy Hes
(2)  Horgsces 5665 (HDgTSDotrd FEES) MO ©oES

(@) #efo, Sisyso 80t s Do (96, £F wofs ) HBak hohisS &..
@) Db DgLren (GerHd HIE0d) Bt &P

61. Which among the following substance is expected to have the highest ignition temperature ?

1} Alcohol (2) Coal (3) Kerosene (4) Petrol

& 208 o35 D ﬂﬂ’gﬂﬁ‘ e0efgfE 2300 ety DN &ototA) wosae Sahadod ?
(1) weyssé @ e (3) 365 @) 256

Mt

62. Related to environment the term SMOG can be defined as

} Ozone and Smoke {2) Sound and F{}g

) Sound and Ozone (4)  Smoke and Fog

BorgSEETDS $0220808 SMOG e, DS DgesSo

(I) &8 Sodckn A9

(3)

(2)  RPo& H80sw 6

K-13241-P11-ET

Zrob B0k 5555
R SoBat 3rh |
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63 Match the fnllnwjng www.sakshieducation.com
Group.]
[Il‘lstripﬂﬂns} Gmup."
(@) The Poona plaeq (Period)
(i)
(b) Mandasor IHSC[‘jpﬂun . Cuptas
(c)  Ayyavole Inscrj " Vaataks
€ Inscriptiop (i) gy
- draveln
(d)  Hathigumpha Inscringinn o«
Pu{ﬂfl {“"} Chﬂ]u
kyas
&3 808 a0 238508 cHt,
& ~I
g S 11
<1
(BRS8men) (o)
(@) X P 0 e

(b) HootSArEE AHBS5Sy (i)  arseeshe
(c) eaHgSen #5580 (i) srdFens

(a) (b)
(1) () (iv)
(2) ) (1)

@) @ @

4) (iv) (i)

(c) (d)
(1) (1)
(iv) (iii)
(iv) (i)
@ (i)

64 Which is not a reproductive part of the plant ?

(1) Root

(2) Seeds (3) Flowers (4) None of the above

& 808 o636° B 0&° LSte5HBS 40200065 2R (hBodSots.

) 3s

2) DeSaren (3) e @) 23DsH

65. _ The new name given to Delhi Rajpath (King's way) s

(1)  Janpath (2) Kartavyapath (3) Veerpath (4)  Vrikshpath

& 5 oradh BuY), 5E DO

() 28556 @ &55556 3 s @) H®
k1324 = i
K-13241 -P11-ET W\ﬂ\aa'a&hieducation.com
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p-11.

Match the following Kings and their titles as given in Group-| and Grou
Group-1 Group-11
(Kings) (Titles)
Abul Hasan Qutub Shah (i) Maharajadhirajo

s
 Can0sdTd

)
T

e
e LM ™ T

e
1.



sakshi
Oval

sakshi
Oval


71. i
Chronological) ¥ arrange the following

(A)  Baule of Plassey
(C) The Second Carnatic war

www.sakshieducation.com

Wars,

(B)
(D)

&2 $08 clugitines: gsrsutsdor gy,

A b csugs

(€©) Botss Sgoeres afngsn
=]

72.  Match the following

Group-I
(Ashoka’s Rock Inscriptions)
(a8)  Dhauli
(b)  Erragudi
(c)  Gimar
(d) Kalsi
&5 308 T BSHESRD.
5.1
(BFHR oo @ THS[wen)
(a) &9
(b) rd
(c) ﬁUﬁE
d) %oy

(@) () (¢ (d)
(M G G (iv) i)
@ (i) (iv) (i) (i)
() ) (v Gy i
@ .0 Gy )

73.  Tropic of cancer passes through
(1) " Odisha & Bihar

(3) SrStogs & e

(B)

(D)
(1) (A), (B), (C), (D) (2) (B), (D), (C), (A)

(i)

(ii)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

Battle of Buxar

The First Anglo-Mysore war

22575 oo

Soocsed Hnﬁ‘-@é:-ﬁ cﬁ»g;’m
(C), (A), (B), (D) (4)

Group-1I

(Places located)

Dehradun Dist, Uttarakhand
Junagadh Dist, Gujarat

Puri Dist, Orissa

Kumnool Dist, Andhra Pradesh

511

(SawosSaads HAFSnewn)
CHErS Ber, adornos
G Ber, thaoes

30 Bere, 2,83

Stmen Ber, swoSHEE

States.

(2)
(4)

Bihar & Uttar Pradesh
Manipur & Chhanis garh

2) D56 & eess 535

www.sakshieducation.com
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74.

75.

76.

77.

www.sakshieducation.com

Identify the Indian-origin leaders across the world

oy I 5
(1)  RISHI SUNAK only (7)) KAMALA HARIS only
{31 PRAVIND JUGANAUTH only (4) Al of the above
& 808 036" ereties Sarerensd) Hdods Frow arafihed ﬁi‘%”‘ﬁﬂ&
(1) 8% BoaeE Sweefads (2) Sﬁwiﬁﬁﬁﬂéa’
3) 5006 amb Sred @ 258
The Stock Market Index of Indian Stock Market is known as —’ i

- )

(1) Brent {2) Sensex (3 NASDAQ (
it 5 £38) 5 Bwg) Srded ) Wotrdd. .
(1) Bod @ 235 @) cgENASDAQ M

Identify the wrong pair about Vardhamana Mahavira.

(1) Siddartha — Father of Mahavira
(2) Trnshala- Mother of Mahavira
(3) Yashoda - Wife of Mahavira
(4) Jamali — Cousin of Mahavira

Wm:&amﬁmmmm@ﬂm-

(1) bgug—amﬂnébéoé
(2) gau-mmmag
(3) MAWM&Q

) 4

Nane of |_hc above

In which city, Global Investment Conclave 23 (GIC23) is scheduled from 12** April, 2023.

(1) Ahmedabad A2) > Hyderabad (3) Pune (4) Delhi
W“M% (GIC23), 2023 SHE 123 D D0 FronsBaessrds ?
1) eimers, @ pooes O aréd Y
The ballpoint pen works with the principle,
Ii]*‘ anlna,r flow (2)  Intro molecular force
(3) Surface tension (4)  None of the above
ool DS Ardo sprdo™ 5 Bpob,
(1)7 oaeb Bardro (2) o8 50Srem 43
@ Soresidges @ 3D

K-13241-P11-ET 17-A — A
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79. At which place Maratha ruler Shambaji along with his prime minister Kavikalash arrested by the Mughals ix

1689 7

(1) Raigarh (2)  Rajapur (3) Sangameshwar (4) Bahadurgarh

Hoovee Hehik wans Foared Sbak e HErSSed DEeES §.4.1689 &° Rntfenen HdABRE
20ofodiard 7

(1) orahHiE (2) orerhrh @ Hotiddsh adrdrbile

80. Which of the following material is used for dental fillings that is an alloy of mercury?

(1)  Amalgam (2) Solder
(3) Bronze (4) Brass
&3 800 a76365° Hot3%) Borerdy AoHErS aris AEED Mdsoo 267
@ Eﬁ'ﬁ“g& (Amalgam) (2) oo wdodaw (Solder)
/ (3) Hocks (Bronze) (4) =edc (Brass)
81.  Which Moghul Emperor made Portuguese rulers angry by welcoming the English Captain Hawkins ?
(1) Muhial-Din Muhammad (2)  Jalal-Uddin Muhammad Akbar
{3) Muhammad bin Tughlag (4)  Mirza Nur-Uddin Mohammad Salim
S 3nié over, eofiaives (DBR) S G DH degido HO8 it oo SN st
eaairgs ?
(1) SordraHs-88-3ndrsyd (2)  merendS IndrEnd ohHb
(3) Budrsyb OS i Qg Sr8S ndriys SO

82. The process of combination of two or more different companies into a single company in which both tt
companies lose their identity is known as

(1) Merging (2) Amalgamation

(3) Takeover (4)  Joint Venture

Boch 056> Sodden KDY 2.8 LoDAM Erarodito Bod E0 SHBCKH KOBS Botky LoDrHer el &
g 555k DA oty .

b :;; mé:;imrgjngj @) ®y¥so (Amalgamation)
= j rgldsio (Takeover) (4) e S°garto (Joint Venture)
3.

Identify the country which does not have an Indian Embass Y.

(1)  Somalia (2)  Pakistan (3) China

&3 800 o83 D Sxoest o oo snmgﬂdi)n o ?
AESEHAsP (2) Mgnﬁ

(4)  Bangladesh

L

e ords
~

e

www.sakshieducation.com
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ify the §
34. [denti v tate whﬂm .
port ig Iucalnd stat
sladle

(a)
(b)
(c)
(d)
(e)

Group-I

(Port)

Pradeep Pont Authority
Deen Dayal Port

Jawahar Lal Nehru Port

(i)
(ii)
(iii)

Shyam Prasad Mukharjee Port (iv)

Kamarajar Port Limited

(v)

and"fHiaiE RIFE EATON RG]
Group-I1

(State)

Gujarat

Kolkata

TamilNadu
Maharashtra

Odisha

8265 33D D ErBor @8 &) TPl 2385650,

(@)
(b)
(c)
(d)
()

(D
(2)
(3)

@ ® 0

85.  Who was the incharge of ‘Pargana’ during She

thre-1

(8s¢5 059)

HOS5 f e
65 s 26
3556 G Y
agSo -5 Sowf &R
geiooeesb G ODAEE
@ () (@ (@
i) () @ (V)
i) @ v M
(i) - (iv)
(iv)

v) @

(e)
(iv)
(v)
(iii)
(iii)

(i1)
(iii)

(iv)

tir&-11
(orgi390)
thesord
g'Sdar
N
K950
2Gar

rsha’s period ?

(3) Mugaddam

(4)  Shigdar

0 Eb -
©) g

(1)  Faujdar 2) Amil
A S0l “BHTER” @), BT HHD?
B
0 ogs o ews O =
K13241.p11.T 19-A
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accordingly.

86. Identify the Governors of states and paich,ther with the states of fictr g
Group-I Group-11
(Governors) (States)
(@) . Abdul Najeer (i) ~ Maharashtra
(b)  Shri Ramesh bais (ii) Andhra Pradesh
(¢)  Anandiben Pate] (iii) Kerala
(d)  Arif Mohammad Khan (iv) Trpura

(¢)  Shri Satyadev Narain Arya  (v)  Uttar pradesh
TR 565 38 0ol TG0 esreBor BeSHE0E.

tieS-1 tfS-11
{ﬁﬁdaﬁ] (o"&90)
(@)  S. wand 585 (i) STy
(b) 362G 8L (i) wof BAF
(€) ea50A3BS He5s (i) S6¥
(d) 03 foiriys oS (iv) @6

() ZRS@S roodedy  (v) @b 535

@ () (© (@ (e
1y Gy @) @ @G W)
(2) @) (i) (v (v ()
(3) G @) Gi) (v) ()

@ @ o G (v

87.  Identify the statements which are correct from the following statements.
(A)  Animals eat other dead animals are called as scavengers.
(B)  Bacteria, fungi and earthworms are known as waste decomposers,
(C) Bacteria in human body is always harmful.

(D) Without decomposers and scavengers the dead animals and plants will not be clear
the nature

€ So) aeles® OGS HSesarerss tH8oclod.
(A) S0%a0S wodhsHes BF gess @oeisheordy A7), Soaby wotyt,
B)  Srgisves, 2bogren 2,80 asarsues S HEEaron,
(€) S35 #65065%) Rorgfisnen 59 €A,
(D) &o%36y Sr80sw VDo) BEHanSGE SIS 20thHen SoBas HFo So
D0DZorr erocich.
(I} (A), (B) & (C) Only (Eg3) (@) (@A), B)&D)only EUERY
(3 (B),(C) & (D) Only (Srg) 4 (A),(B),(C) & (D)

K-13241-P11-ET 20-A B ]
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88

89.

91,

Identify the events as
s these happened during Indian freedom movement and arrange them in Chronological

order.

(A) Jallianwala Bagh incident Y

(B) Subhash Chandra Bose reache ) . ; ('
(C) Dandi march by M:lh::trl:ml:'j::i::::sflli‘:lrm the e of T i
(D) Champaran Satyagraha by Mahatma Ghandhi 8

(E)  Quit India movement by Gandhiji n.p'

(F) Bhagat Singh. Rajguru and Sukhdev w ; TR LY

s 2 ere hanged in Lahore jail b
f&?énﬁﬁﬁ,ﬁ:- ﬂij::ﬁﬁ &:2;‘" SBoueasess e abhs ebEre g5006° oo
ey Do

(B) @oBcHS JHSS ey HstoHo E%e Mugrh ol B S 05 B

(C) HoSsay mrof orgoe Sod Soby

(D) HoGsey mroldel RO SoarsS Sargidro

(E) trofel oegoe 8365 modsol SRl

(F) est5es Dob, o SoBasy HoBBS 0% erdth Zend® &b HS BoDesd

@ (D), (A), (C), (F), (E), (B) (2) (D), (A). (F), (C), (E), (B)

(3)  (A), (D), (E), (B), (F), (C) (4)  (A), (D), (C), (E)(B),(E)

The chemical name of Baking Soda is 3

(1) Sodium Chloride  &~/t (2) Sodium Hydrochloride el
(3) Sodium Hydrogen Carbonate ~o™w  (4)  Sodium Carbonate Aatey
5805 e Bk, GAPaHS e

(1) asdaho 586 )  Asscho TEEIE
@ B0 TS o8NS ) AdoHo SBHIS

[dentify the following in which Money Bill cannot be introduced ____.

(13 House of the People only (2) Council of States only

(3) Both(1)and (2) (4) None of the above

55 Sndrone S 2 0B oD 2o S HAFDYEFEE, 0O He3?

(1) &% dg G ud S HS) Srgd @) oresawsSrgd
(3) (1) S8k (2) Bo&rd (4) PIDSD

Every year onwhich day, the Indian Army celebrales “Infantry Day” to pay homage 10 the soldiers who foug!"

for the country and laid down their lives in the line of duty?
(1) 26" January (2) 15" August (3) 27" October (4) 30" December 4
DAHen Bifo E550 DY HatEao AroBBocd AP BYoSES HB Bosdhde exeies Pdgo "
(S@STo B2r) D %rd eodpesood ?
(1) 26" 23556 ) 15" estdido @ 27" &6 @ 30" &2oeb

il

K132 i

K-13241-p11.-
ATED 21-A
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| ' ifmi iq that aims to boost the
92,  Which of the following Policies has been ggﬁfgﬁﬁwaMImﬂnmmmcm of India that a

country’s Space Department’s role ? .

(1)  National Science Policy 2023 (2) ]“:!ﬂn gpaf:; T,nmllg, i{éi

(3)  National Security Policy 2023 @) o eastss saroB
grdd Habdge aryo® Eﬁ?ﬁi«ﬁm&é 5 DrSY S aguitiet”

£ 1oy
(1) FL5SE S ved 2023 @ molahS AyS arom 2023

2
(3) mmwﬁ — 5, 2023 (4) EDE&G'.‘;}‘E Fﬁ“:ﬁéﬁ‘ﬂ’o 023
_ : : . o correct about Rigveda 7
93. Which one of the following statementis 1% © 14 74,000 words.

(1) Rigveda covering 1028 hymns, 10.560 ™% rended beyond the Yamun:
(2) The geographical knowledge of the Rigvedi¢
River. 2

, = ; ‘

Ei; gﬁahgznmi}:n?ﬂ;j?:dmdf;m qssemblies were existed and controlled the powers of the kings.
+ 1 y

88 808 B5sS0eS" nigTds 50020800 9050 28 7
(1) emfigrios® 1028 g, 10560 08 506050 74,000 Seswen SOV
@) i sthge B, &Y £50ggi50 OHENT® 5O 56 Srad 6560 FSo8.

@ m}ﬁsﬁﬁnﬁ‘ mgga{mm 259 (900D HADoLTAD.
@) 625, 5208 H0ak Jrd ko 805 928 (@R0He0) 2nfies sp0d® orere (), RSPEENOD

Senzreexnd’ G000,

Aryans does not seen 1o haveex

1o Shiva

94. Which is an Indian initiation (o promole Medical Tourism in India ?

(1)  Universal Immunisation Program

(2) Heal in India

(3) Ayushman Bharat Yojana

(4)  Pradhan Mantri Swastya Suraksha Yojana

208 506° BAES tarbzo ©DHP JaHES &30S SeEgES0 O ?

(1) m&%&mgﬁ;’ﬁw
(@) &&asactosr

() eosniyS a6 Gress

@) 5 S0l S5y S0 G

! 95. The Reserve Bank of India undertakes transactions to balance any deficit in its Balance Of Payments (BOP):

called . [ransactions.
(1) Capital Investment (2)  Auction sale
l’;} Official resl:-nre sale (4) None of the above
2B emgof 85 modatr BPosSods Avdod® S et TR o Sabwds B
Wﬂﬁum____gnmi
(1 5“3)&15'6133&3)::5 (2) 95.5'.5}5
@ ©RHS ﬁaﬁsﬁaﬁ @ 3DsH
K-13241-P11-ET i '
24 T
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96.  NILP was launcheq by Governm
B e Indcpendcm . :I:nt of Indig Mt BOR3WhERTS the full form of NILP 7

(2) New India Literacy Program

(3)  Northern Irelang Labour Party

(4) Nestle's Internship Leap Progra
m

NILP e9555:58 2023 %
) T 56850 6o Hiido. B GO tirdo D7
() &8 &3 20820E0 Dok gere )

@ Ry RoGos LSS gmee
(3) ~3Sogos Bab b

@) 33,3008 S5 dro

97, Under which article in constitution of India, District Judges are appointed ?

(1 243 (2) 233 (3) 320 (4)  Noneof the above
grdes ovemgotio $seo @) 685S (V2065%) orqoe deg Argairlsd DahduodwGEar 7
(1) 243 @ 233 (3) 320 4) pIDsDH

98, Which of the following is not a measure of Internal Security of India?
(1) Preventing illegal activities in the country '
(2) Development of strong mechanism to fight against eybercrimes
(3)  Effective implementation of law against corruption
(4) Protecting Indian citizens residing outside the country
& 808 B3S° e woddE 2D HorofosAO a0?
(1) BdoS° 58 Y ?Ugéuﬂir’e::&:- DB Boches
2) b Iored SyB8L SFTirDE HBGHoSHR Frgiten

() ©208 DR Sowoods Srosd ot Sodor wibies B636s

(1)  ops o 38 Sros® 4y 64

99, Which of the following nutrients are not contained in milk ?

(1) Calcium (2) Fat [3]/ Fibre (4) Protein
& 3o are3es® D BFdsren red® gotsd)?
1 Qo 2 £ @) pab @ &S
| e — ML
K-13241. J—
I 241-P11 7 - T
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100. Identify the dancing style and march with the originaied state

Group-I Group.J]
(Dancing style) (State)

(a) Dandari (1) Assam

(b) Chhau (ii) Kamnatakg

(c)  Bihu (1) Goa

(d)  Yakshagana (V) West Bep gal

{;j " Dekhani (V) Telan gana

£o8 vl RS e ws SEHDoDD TErInd’ aeiHrhtm,

-1 HS-11
(g dgreiso) (oe5y90)

(@) Socsp (1) ey

®) o (ii)  Sgoese

(e) &I (ili) %

d)  oSHgms (iv) 3y Borrd

(e) B (v) Seorres

(@) M) (© (@ (e
@ V) GV G ) G
@D W v G @ )
@ ™ G) G v G
@ & O G ) i)

101.  Identify the Kings and their regime in chronological order,
(A) Kalinga war by Ashoka resulted more than 1,00,000 deaths
(B) Chandra Gupta Mauryas ruling
(C) Jalaluddin Muhammad Akbar started as emperor at the age of 13 years
(D)  Sri Krishnadevaraya captures fortresses Udayagiri, Kondavelli and Kondavidu
(E)  Shivaji captured Torna fort at the age of 16 years
(1) (C). (D), (A), (B), (E) (2)  (B), (A),(C), (D), (E)
(3)  (B), (A), (D). (C), (E) (4)  None of the above
Or2re0 S080%0 08 BOIre BB £&06° (08ocSod.

(A) @F%HD 2382 $0ots afuio, oS PP Jreren E5%\S¢ko.

(B).. Soihy) &Fhge oragdrers.

€ 2ereds sudriyd o6 13 Sosdore S0HENS SEEGe (hGoerczred.
(D) 3% BSorahen Tr3o° &e5aDNB, Sottsd bk Foddeh e esgoea,
(E) B2 163 26 &'oy) Bty angB:8 BE:8%5¢o.

(1) (C), (D), (A), (B), (E) (2)  (B),(A), (C), (D), (E)
(B), (A), (D), (C), (E) @) p3DsH
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the PI i . _
102 Arrange the Flanets in the Solar System in the decreasing order (highest to the lowest) according to their

number of moons.

(A) Neptune (B)  Mars

(C) Satumn (D) Uranus

6 SgSHEN i o8 ), Soghe Bomg erorr essiree () Sod SES) §506°
wSthok.

(A) 3%rsS (Neptune) (B)  evorrisheds (Mars)

(C) & (ieo (Saturn) (D) 085S (Uranus)

(1) (C), (B), (D), (A) (2) (B).(C), (A), (D) (3)  (B), (C), (D), (A) (C), (D), (A), (B)

103. The object of depreciation in economics is to

(1)  Show the previous profit (2) Reducn; tax
(3) Calculate net profit (4)  None of the above
08 rrgaeﬁ" ghrbeie Gns), eddgo _
(1) ebods® &roBS ordfo SrdoStio (2) Dy (&75)) Shosco
@ QL ererR)) B ocicto 4) 23D =D
104. The iron pipes we use in our homes to carry water are galvanized with to prevent rusting.
(1) Carbon (2) Helium (3) Zinc (4) Magnesium
588 $850° E6H Ho 9HS° &DABrAoD BB Phen Gy HRHE & dpe Grodhed
(eS8 )ésotron .
(0 s»cg}S 2) &rdahHo @ 2305 4) E&ﬁﬁﬁmﬁm
105. Identify the people who attended World Economic Forum 2023 at Davos, from India.
(A) Eknath Shinde (B) Gautham Adani
(C)  Anil Ambani (D) K. Taraka Rama Rao
(E) Mukesh Ambani (F)  Adar Poonawaala
(G) Sanjiv Bajaj
() (A),(E), (F) & (G) only (4) Both(2) &(3)
oS 6 BONS H0iS fE 3682023 8 ertesiio Sood SRS HBULD BGoiSed
(B Db 20 (B) eSS omd
©) S woerd (D) K. @08 oParoead)
£,
5 R A ®  ogb T
(G) RodS eyepss
M (),
. E:ﬁ; (B), (©) & (F) g5y @ (@ 0) 6 &F srEd !
1 (E), (F) & (G) e85, A I
() .sakshie %m& : ,
e g
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106. ,
Match the following Tournaments with the related game.

Group-I Group-1I
(Tournament cup) (Games)
(a)  Durand cup (i) Hockey
(b) Eeighu}n cup (ii) Badminton
(¢)  Agarwal cup (iiiy Polo
(d)  Davis cup (i) [Football
(e) Ezracup (v) Lawn Tennis
&1 808 ¢5'Gy olaed o838 Ho2r0B0DS ééﬂé‘ pesHtods.
551 g1l
(es® 5.;_3:::5 £5) {éﬁw}
@ 5050555 i %
b) HeSES i) @rGpeS
(c) eotfoegd €D (i) &
d) B25¢5 iv) fod
{t] Qg éf) (v) 'E’J'\g ﬁ:}ﬁ

@ b © @ ©
Gv) @) (@) (i)
Gv @ () (i)
G G (v @) O
@ G) (v m @O @

107. Identify the wrong pair.

(1) Madras Native Association - Gajula Laxminarasu Chetti

(2) Indian Association - Surendranath Benerjee
(3) East India Association ~  Dadabhai Naoroji
(4) Bombay Presidency Association - Bala Gangadhar Tilak
5B57SenS0ed 2 Hociain.
(1) SErd 388 edfdhis ~ rere f 3650 3¢
(2)  @oAAHS wANSHAS - %Bogaed B850
(3) & moddlr atHahaS _ oeoreron 6%
2708 HHBY) WAHELHS ~ gyororrdb &b
108. Who is known as ‘Father of Genetics™?
(1) Hippocrates 7 (2) Robert Hooke
(3) Leonardo da Vinci (4)  Gregor Johann Mendel
sibog T HEoAM DE OB S5 J56?
(1) 558 2) oafsus
(3) OarTE & I 56 %S otsd
Pt ___www.sakshieducation.com
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it T, ;-mnm__':ﬂﬁltrkc. - ‘:"{""ﬁl’mr r;;::l:"l':l:‘lllFil.ﬁ Fo i (T T T ST [ Y —— g e
09 -Bonaigarh range’, known for iron ore is situated in .

X§ (1) Bihar (2)  Chhattisgarh (3)  Odisha (4y Goa

o TresH® HHG ModS ‘Sronind Boif eEW &y oo

)y HHb (2) SESHE @ calat @ B
110, Atthe time of electrical short circuit, the current in the circuit e

. (1) Reduces substantially (2) Does not change

(3) Increases heavily (4) Vary continuously

derdysd rf i gt 93500%08° HEgEE° (SwoHe) K8ed

(n HeaDafiom éthéed (2) SArseH

@ erBirre DEHECD 4) DEodbo Syt dotaod
{11, Name the first Vijayanagara ruler who bore the imperial title of Maharajadhiraja. e i
l (1) Hari Hara (2) Bukka (3) Hari Hara Il (4)  Virupaks

« S Segrerores’ DS ($80DS e Descasiis orer D% 7

(1) 06 2) e @ Bols HBIE  (4) DEFY
112. The DNA full form is .

(1) Deoxyribonucleic Acid (2) Deoxyribonucleic Amn_i

(3) Double Oxyribo Nucleic Acid (4)  Double Oxyribo Nucleic Atom

AJED (DNA) B, g drdo

ASB8y0e%%rg8E assho (2) ABrEBEHrgas e

(3)  clend esdy8es® SglS esvo (4) e eadyBe5® Hrgls e
113. The price of one country currency in lerms of other country currency is known as .

(1) Transfer rate (2) Buying rate (3) Selling rate (4) Exchange rate

28 B4 589y 656 38 5% €0R) GES° Sr8Eo Botd DB @0t

(1) 288 &5 2) €366 (3) edyes SrBy& GO

a a. . & - f‘ e

114. Which one of the following is the correct description of AGNI Missile, which is developed by Defen

Research and Development Organisation (DRDO) ?

(1) _ Short range missile (2)  Fastest missile

(3)  Long range missile (4) None of the above

(DRDO) cregoe esosmess Ho$escs eofly (AGNI) §e3 (900D HO@oiS 55 6 ?

(1) Sgeyy Je3 8563 (Short range missile) (2) S550e50S §Ded (Fastest missile)

R §:0e3 (Long range missile) 239 s (None of the above) _

e /]
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115. Match the following :
Group-I
(Texts)
(a)  Brahatkathamanjari
(b) Kathasaritsagara
(c) Brahatkatha

Group-II

(Authors)
(i)  Sarvavarman
(ii)) Kshemendra
(iii) Somadeva
(iv) Gunadhya

(d) Katantra
&3 508 &R p3e5H e,
(551 toi-11
(Godswen) (deSandien)
(a) eypdrSsprsond (i) HEIHES
(b) Eqrsbemyis (i) Eod

@@ ) (@© (@
() @ @) G )
(2 () @ (v (i)
(3)  (v) @i @) @

(i) @iy @v) @

116. The components of Balance Of Payment (BOP) account are

(1)  Current account only (2) -~ Capital account only

(3) Both(I) & (2) (4)  None of the above

2585y 4 Do (BOP) B, grrren

(1) &Botw grer Srgiid (2)  Swredss grar Srgd
(1) 585 (2) Bocsse 4) 3D sH

117. Which one of the following statements about Allauddin Khilji military reforms is not correct 7
(1)  Soldiers were directly recruited by the Ariz-i-mamalik
(2)  Introduced ‘dagh’ (branding of horses) and ‘Chehra’ (descriptive role of soldiers)
(3) A separate and permanent army for the defense of the north-west frontier.
(4)  Created a separate army for the expansion of his kingdom towards South India.
&2 §o8 HISSB00S" wgradS DI Buk), DIE Soki)BeasneH Hozofod H6 5B NG ?
(1) ©08-a-5:5r08 ogoe pADED Hesggone DaHAorseBEaetd.
(2)  rhgred Sngd Jahdo(h) SHdah PIHL Bug, dSored BOH HEESH (Idrov) HF
DEES0 230ASH,
(3)  &abdg droes (North-west) Sgeath LBERS T DK Dayyod DoHdoesersdards,
G550 P08 BHo e &5 Trangd)) DHBoSEIF BEFEIS DioegRy ok Bokicko 226008,

K-13241-P11-ET 28-A . TS
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Method is used to idemily the larger distances like carth to other planet.

18.
1 (1)  Parallax method (2) Range of Tk
(3) Fundamental or base units (4)  None of the above
£y oo I8 (0 €0l KcSeoees (Large Distances) Sendmds a5crAos DEA
anotydDd .
(1) oppoiosge ) EHoTgh

(3)  areaE o Samey HSrErey @) 235D

119. Identify the importance of the Janani Suraksha Yojana (JSY), a scheme of Government of India
(1)  Reducing maternal and neo natal mortality

(2) Giving security protection to Women

(3) Giving Education to Women

(4)  Giving employment to Women

sl Hehesgo HESo 2358 KdE Breesd (JSY) B, Sy eaddo :
(1) &@ 5009 B ST Sfoches

(2) Ko ge® O SOhd

(3) R ITY S5%55 @oBohtd

4) QoD EH S wISTT

What is the title of Indian Health Ministry ?
(1) Ministry of health and child welfare

(2)  Ministry of health and family welfare
(3) Ministry of home and family welfare

120.

(4)  Ministry of home and child welfare
& 308 el eyedies esﬁﬁﬁg SoofBésy om BN, 0 > thfodsods.

(1) DY ef e woks 35 356

(@) 2dfyedand ook argnd 356
() AP ud D wo& Jrgnd IO
) DI e F% ol S IHG

121. Which of the following sport is related to the player by name Satyawarth Kadiyan? .
Wresthng

(1)  Kabaddi (2)  Boxing (3) Cricket (4)
Regih EAoDHS B T 61 808 sl & atrtd Ho2ofoDd a?
Uadl g @ =8of 3) 88 @ aggob
K-13241-p11-ET —— A EWSECL_ fllll""'" [II l
29-A

e

.. e


sakshi
Oval

sakshi
Oval

sakshi
Oval

sakshi
Oval


NS u0sp0n Dicparmmacs et Pk I SBkShERgpt0.com

122, The oath or affirmation by Indian President will be in the presence of
(1)  Out going President (2)  Prime Minister of India
(3)  Chief Justice of India (4) Vice-President of India
8¢ oryHB Hiores RS o S0 H50ges” exthrheol?
(1) HED SnhodS 0°HHd (2) erls Srrdded

(@) o6 o 81 gos wrgasng () $POG SSTpR0

123. Which of the following statements is not correct about Buddhism ?
(1)  Buddhist birth stories called jatakas, which form part of Abhidamma Pitaka.

(2)  According to Buddhist jatakas, the Buddh? was F}Gm 551 times.
(3)  The early Buddhist literature was written in ;Pﬂll language.
(4)  Vinaya pitaka deals with the rules of Buddhist sangha.

81 808 atdes” G &S Joarolod HB575e0H0e] HBSHB0 B?
g DEoEDH %0e30809DS eress Sien @NEBHY HEEH8NES® ArothbEsearaw.
(2) B ereds Sio H5°0o 2D 551 A B308@3:%.
(3) O TG Firesghn ‘TP’ grRS’ FabaGETom.
4)  DSoH HEgsw, TG Do AaDHBrSHPSE’ Sg8eBocseachidd.

124. Identify the persons who worked as Chief of Airforce staff who belongs Telangana State.
(1)  Air Chief Marshal Idris Hasan Latif
(2)  Air Chief Marshal Lakshman Madhav Katre
(3)  Air Chief Marshal Pratap Chandra lal
(4)  Air Chief Marshal Vivek Ram Choudari

rod araindS Sugg ©HHA (D 8 Janbyhy &) e B 1S Beorres S8 MHGocSod .
(1) dowb O Srdd 885 oS 0dS

(2) oonbHH S o0 ye5 SoresS 48

3)  onb AP SrdS Ha b ol e

E: Donb AP Ergd D38 oS 456

) 125." Who discovered the First rock paintings in India at Sohagighat in 1867-687

(1)  V.S. Wakankar (2)  Archibold Carlleyle

(3) H.D. Sankalia (4) Arun Sonakia

D EEBHED REPAETE SrossSns® §.4.1867-68 SoSeBE0S° InyBnce o8 Dgreis N
58 7

(1) DN, arseosh 8, 5% 586
(3) 5.8 Sosdas (4) etheh dordah
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126. Which of the following state in India won UN-Habitat, World Habitar Awards 2023 for JAGA Mission

programme ?
(1) Odisha (2) Telangana (3)  Tamil Nadu (4) Punjab
2023 S R’Juéﬁ%ﬁ.‘ﬁnﬁﬁ S tdoei® & oEg0 "B QB JAGA Mission) %0 UN-D&S, :35§
BDexeS eardd Nenchhed ?
@ Ead;? {2) Ellaon“:-:-a {3] SNl (4) :}aﬁ‘ﬁ
127. Which of the following is not an Artificial Intelligence based Chatbot?
(1) MobileMonkey (2) Netomi (3) ChaiGPT (4) Wireshark
& §08 Te3S° DO HBD DN BF0230B0DS coderds 5 ?
(n &)@vgé}ﬂg (2) 35 (3)  oed5aded @55‘1“5&
128. The Rocks that contain fossils are .
(1) Igneous Rocks (2)  Plutonic Rocks
(3) Metamorphic Rocks (4)  Sedimentary Rocks
Beraped SO0 &) Bven
(1) efpoah Boen (2)  Hrerds dow
(3) dGrarosss duen 0555 F0en
129. Which state has started a campaign to ensure purity of milk and dairy production as “Pure for Sure™ ?
(1) Gujarat (2) Bihar {3) Telangana (4) Rajasthan
5 ooy dren BB e e L), OIS DFBoSERS “Jyrgh ©b Argh” eI Hardo
ardoodol ?
(1) thesoed @) &6 (3) SBeorre oS

130. Name of Bahamani ruler, whose death anniversary (URS) is celebrated every year by the Hindus as well s
Muslims of Bidar town.

(1)  Firoz Shah (2) Muhammad Shah I
(3) Ahmad Shah wali (4) “Humayun ‘
D BTORD Ty Bk 5Eod, HEb H JodS Irodoper BB SnpSen €00 ‘&)
shipSHoerth ?
) & 2) B Srsyb
@), sxmsys 50 () GosrahieS
'F) 3L Droo Associated Laser Science and Technology Centre is located at ‘
g;m”;}rfb“i (2)  Kolkata (3) Delhi (4) Chennal
I mmm&“m 2B 28 w0k Bsmeres Dosb &° &0,
o ) Sopae @ & @) B

i S ———wrnmiiml
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132.  Mount Merapi is an example of

(1) Block Mountains (2)  Volcanic Mountains

(3) Fold Mountains (4)  Residual Mountains

Soow Bisgeso © excisroea.

(1)  mot Hgeso @ o Ddgeo

(3)  Swckes Higeo (4) o533 Hgeo

133. Who among the following received the 2023 International Prize in Statistics that is equivalent to the N

Prize in Statistics in the year 2023 7
(1)  Calyampudi Radhakrishna Rao (2)  Nan Laird
(3) Neena Gupta (4)  Bradley Efron

& $0B 88" SBS HEIYOVS BSrSIS wogrdah rrzrosre Sp8J) 8o (International Pri:
Statistics) 2023 SodefyBos® oS a6 tHBocdod |

(1) sostraomgsos @ 585

134. *Bison’ National park is situated in
(M i
adhya Pradesh (2)  Tripura (3)  West Bengal (4) Manipur

B "2rdiat S553ves Kotigen Sogfo SuEHF) oo

(1) &
g 935 @ BN () DD Borrd  (4)  KedGrb

135. Howm
any chromosome Pairs are there in g human cell?

AP &
R208° 20 SR, 2 emyon?

1 3
2
b i @ 43 @ 33

_-_____""‘"-—-—-___ www.sakshieducation.com
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136, Match the following Ministry's with their Schemes:

Group-I -

(Mt (Schemes)
() Ministry of MSME (1) The Pradhan Mantri Gram Sadak Yojana (PMGSY)
(b)  Ministry of Tribal Affairs WY A ik Bl
(¢} SsmtryokRoeeDavelopment. (iii) Khadi Gramodyog Vikas Yojana (KGVY)
(d) Ministry of Finance Yojana (iv) POSHAN Abhiyaan
(e)  Ministry of Women and Child Development (v) ~ Pradhan Mantri Jan Dhan
Sr0@elg TPV 83 HeSsee et od,

-1 tirea-11

(08683 Twen) (se5en)
(a) Horgfy OF) & Dodig SE5° HBFSe Ho@es T () Hord o e D6 Bresd

(i) wef A6 ervS

(b) eros adezo SyoS 0y

(© TR oBeg TR

@) g8 D0BSs TR

() &S0 3 s BooBeSg TR

(i) rOrAragh s Bresd
(iv) %¢5 (POSHAN) @ases

(V) BT S0 aSES

(@ M () (@ (e
() (i) (v @) @G v
) (i) @) (v @G @v)

@) G G 6 ¢ @

@ (i) Gv) @) (v) (i)

137, The process of separating fibres and seeds from cotton is called
(4)  Knitting

(1)  Spinning (2)  Ginning (3) Weaving
98 5050 S306 5B 50805 Aoy ety Sy SEBD___ ewotrdd.
(
) ok @ 205 3) 5ok )  dgob
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138. Maich the following Book Titles with their Authors :

Group-1
(Authors)
(a)  Arundhati Roy
(b)  Kushwant Singh
(c)  Habib Ahmed
(d) APJ Abdul Kalam
(e)  Atal Bihari Vajpayee

€3 £ob are365® HHisre SSowdse egrdo™ a0

tied-1

(SeSomesen )
(a) eatHotsd oodh
(b) K5 Boh
() DS wlimb

(d) .28 wend Sord
() wesd DG aradyom

(@ () (© @ (e
(1) (@) (v) @) (v) (@)
(2) @i (@) @Gv) (v (D)
(3) @Gi) Gi) (v) (v)y (i)

(i) Gv) (v G 0

139, In India, The executive power of the stale shall be vested in
Chief Minister

arESB S oo G, SUgAERErE BBSTTPE) A58 efS0e” Gotrow ?

6565

(1)  President (2)

Group-11

(Book Title) 1
Constructive Parliamentenan

H:}) Mera Desh Badal Raha Hai
(i) Azadi : FreEfi:]m
(iv) Train to Pakistan
(v) Mera Pyara Bharat Desh
B 3efHtHEHB.
geB-11
(BeSSen)

i) Dor B8 wss 65
(i) @20 : 2o

(iv) @‘5 &w 'ﬁ’gﬁ‘fs

(v) oe degor orES B

{3)  Prime Minister (4)

SESS08

(1) od8 (2) Swpged (3)
140. Maich the following Chola rulers with their titles.
Group-I Group-I1
(Rulers) (Titles)

(a) Vijayalaya

(b) Parantaka

(c)  Sundara Chola Aralamouli
(d) Rajendra Chola

(i)  Rajakesari
(1i))  Madurai konda
(iii) Kadaram gonda
(iv) Raja Raja

81§08 Y 20 38 DD 235565 K500,

eI
(oraren)
() desafreas
(b)  Horoety
(d)  ordol Sy
@ (b)) (¢
W @ G g
@ @0 (G )
® O G G g
(4) (i) (iv) (i) (iii)
K-13241-P11-ET

fi5-11
(DHthen)
(i) ore3858
(i) Soeg 5o
(iil) Erdsdw Fod
(iv) ores oves

shieducation.com
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141. In which year Salar Jung Museum was started 7

ks K&aﬁ?ﬁaﬁueﬁﬁ 2mereh 23oh ;’)mgascﬁ:& SrtoDocsedod?

(1) 1948 (2) 1949 (3) 1950 1951

A, B,C,D.E, F are members of a family. A is the father of F ; E is the daughter of C ; D is the husband of

wife of F ; B is the daughter of A ; Then D is related to E as :
(2) Grandfather (3) Uncle (4)
o0& Hezhgen. F GBut), od A. C Gog), HI-GE. B St 25¢ D. F Gng,

142,
B : Cisthe
(1) Father
A.B,C.D,E,Fen 2.8 EHdvow

egC. A Q08 &3 B. @ond E & D & tfe Sozotso :
(1) ¢So& (2) & @ &8 aFstac  (4) oS emadsn b8

Brother-in-law

143, In which year “Nethannaku Cheyutha™ scheme started by Government of Telangana 7
ey Bt "5Eo Boorres HEOES T S SosesyE56° Frodosndod ?

(1) 2015 (2) 2016 @) 2017 4y 2018

144. Choose a term from the alternatives given below, which bears the same relationship with the fourth term as
the relationship that the first two terms bear.
8ot QS BcE Both B G Serold Bozoo ol W0 Kool RS S50 LOND
HorRy pRSTe Sod £5089 08,
HIJL:0QS8: ?:1IKM
() LNP (@) NPR 3 LIH @ MOQ
gories?

145. “BALAGAM™ Movie won the ONYKO FILMS Award in March, 2023 in which of the following cate
(1) Best Director Feature Film (2)  Best Documentary Feature Film
(3)  Best Drama Feature Film (4)  Best Dialogues Feature Film
S8y, 2023 6° 2:08° HOSY wardes® “wotfo” HIXrS 5 Deriiods® LB Bo ©doDod ?
(1) e 556G SodDE dgriio (2) e wrHgond Soddg dario
@ B rtoo SOSDEJeRo (4 G Joaries S5 et

146, Which Chief Justice of India became the acting President of India ?
(1)  Justice H.J. Kania

(2)  Justice Mohammad Hidayatullah

(3) Justice A.N. Ray
(4) Justice Hans Raj Khanna
& 808 °06°, erdedaDs oram,O8 oo

(1) 2300 P8, sRakr
@) =35 SutrsyS trorabdge
(3) 2RO DD, 3
(4) Bi‘lg-r% :!‘S'a U’£ mau.l
K-13241-P11-ET 35.A4 —””*ll_lllllllmlu
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147. 3 of the 4 alternatives given below are related in a certain way and so form a group. Find the alternative Whiy,
. does not belong to that group.

8065 myS mrenth HEFRIATOS® Sarchy Hergiomatmen g6 RBH Srgoss® Kooty L0 oty
Se) a8 HSurrorT DEYEE00. Ha BRrLEDE Fossd é@g“‘"’ﬁ

asY) 508508
@ Bear (2)  Lion (3)  Jackal (4) Tiger

148. Who is the First Chief Justice of Telangana High Court ?
(1) TB. Radhakrishna (2)

(3) CH. Praveen Kumar (4)  None of the above
Beoorres TED Bc5e3 B aegahHBardD H8oSod |

@ TB . oogr8% (2) A Soses 35 Ao O
(3) CH.5de5 508

@) 23dH s

8 persons E, 1, N, 0,Q, S, T and U are sitting one each at each side of an octagonal dining table facing the
centre of the table. I is third to the right of E and second to the leftof N. U is third to the left of T and secong
to the right of N. S is not between of I and N. Q is diagonally opposite to T. Then the person who is third 1
the right of S is :

RS BHBSWY 28 @b God Bng), Sogrds ePSwwor E, I N, 0, Q, S, T &80 U wi

8 B0 Sgen a8 288, aha0 S ey | ©F S8 E & HAT0 SardSare mi

00ty N & SERJS Bocssareds MSe oned. U oF S5 T & SESHgns SrdEsams mi
08050 N 8 HATLYS Bocsdarehs miss ey, I 53805 N e ¢S

§ S 8ch. T8 D5%o Sowrd HeSstorr( |
G0, Wond S H HA JH SaeESaehme ) 558

M Q @ U G 1 0

following are ideas that few people have about masculinity and femininity?
(1) Gender Stereotypes

A. Venkata Shesha Sai

149.

150. Which of the

(2)  Intellectual Ethics
(3)  Morality
(4) Gender Sensitivity

theseo SsBotn Q520 (5808 Ebes [s08 g5en EO afnd) esiSSeds g §od s’ tHBocSods.
@ DoORERS PEoS SrEBE 0o (Gender Stereotypes)

(2)  DEIBES (Intellectual Ethics)
(3) SBEE (Morality)

(4)  Dofi RoyeSesco (Gender Sensitivity)
K-13241-P11-ET
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151. Match the following Organizations with the places of their Head Quarters.
(b)  ILO (International Labour Organization) (i1) ew Yor

; - (iii) Geneva
()  FAO (Food and Agricultural Organization) (iv) Washington D.C.

(d)  World Bank ¥ -
3 808 ;M:ll{}ﬂém; ety G, Flags suuwﬁucﬁ:“m-"fﬂ ;‘_:,;Mvﬁe paefhthciasioy
i (i)
(a) UNICEF
(b)  ILO (International Labour Organization)
- (iii) oare

(c) FAO (Food and Agricultural Organization)

({d) World Bank

@) @<, @i, -0, (@-)
@) (a)(ii), (0)-(iv), (e)-(iiD), (d)-(1)
3y (a)-(iii), (b)-(ii), (c)-(iv), (d)-(D)
@) (a)-(iii), (b)-(iv), (c)-(id), (d)-(i)

(iv) ae2obhtan &.0.

- il |}
152. Who among the following Leaders of Telangana is known as “Telangana Bhagath Singh” ?
(1) Sri Komaram Bheem (2)  Sri Anabheri Prabhakar

. - hankar
(3)  Sri Kaloji Narayana Rao (4)  Prof. Jayas
85 808 SrBE® “Berorres 256S Doli” TP (90 BroBS TOHHE I ?
(1) §55060 Ho (@) &wisso Harsd
3) 8§ 558 ororabestd @) 236 esahHdosh
{53. Who was the Chairman of the Linguistic Provinces Commission ?
(1)  Shri Rajendra Prasad (2) Pandit Jawaharlal Nehru
(3) Shri S.K. Dhar (4)  SirJohn Simon
ardp HoS0E ooy S2063 BGYS DSG?
(1) &oded S0 (2) HolS sardrbord ITve
(G) 8536 @) %6208 %8
154. Which of the following is considered as an alternative to moral principles ?
(1) Real Ethics (2) Logic Ethics
(3) Virtue Ethics (4) Computer Ethics
& 8o S DD BE Hrgrod Hergdrmaborr HOTedociacod ?
(1) Re3gdod A& (Real Ethics) (2) &6, D (Logic Ethics)
G5t N8 (Virtue Ethics) (4) Eco’ayglbg & (Computer Ethics)
155. Identify “!E country with the highest Gross Domestic Product (GDP) among Asian Countries, in the year 2022.
(1) India (2) China (3) Japan (@) South Korea
2022 HoSHdfyBos® eshalimestD Samesest 030 Hre 3305 &efy® (GDP) £00S Sxy) (080 Sods .
e ° @ B (3) 2@ (4) S8e 50OL°
o ; il
S i 37 It
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156. Identify the Poet who was conferred by Padma Vibhushan Award in 1992.
(1) Dr. Andesri (2) Dr. C. Narayana Reddy
(3)  Kaloji Narayana Rao (4) Dasarathi Krishnamacharyulu
1992 o y5065® HENATAES KBRS0 ot S thGoSd.
(1) & 203} (2) o0 Toahedd
@ 5% TroraheaTeS) (4) orddh EHdmarthgen
157.

If “EDIT" is coded as *7182322", then in the same way ‘FILM’ is coded as :
‘EDIT” % *7182322" o £% 33, 08 2¢ore ‘FILM’ G, 8 :

(1) 21141815 @ 14151821 (3) 15181421 (4) 15142118

158. Ina certain code, ‘SMILE’ is written as ‘@5*7%’, ‘DOUBT" is written as ‘&3 T 8# and ‘NOTARY" is written
as ‘$3#2A 9", then , in the same way the word ‘REASON’ is written as : L L@ 3 t’
&8 03 5%, *SMILE’ % *@5*7%' @, ‘DOUBT’ & ‘&3 T 8#' e0d S:0as0 ‘NOTARY' D '$3#249
©d g%, ©8 Do "REASON’ &5 Soeiy R S :

()  A%23@$ @) 2%3A3@ 3) A%2@$3 A %2@35
159. Who designed Telangana State Police Emblem (logo) ?
(1) Thota Vaikuntam (2) SuryaPrakash -
(3) G. Ravinder Reddy (4) Laxman Aelay L -"L?-
Boore oy 85 Dmo Gk, ErSEE D56 ? W 4
2 5
(1) &% 3Hobo (2) -~ drdy S& 2
(3) G.650c632 o5 B

160. Pointing towards a man, a woman said ‘He is the son of my father’s sister’s daughter’. How is the man related
to that women?

(1) nephew (2) cousin
(3) brother-in-law (4) grandson
&S DO SrDdYP, 8P, ‘e o o Gn), RSB Bt HS5PG En), HSPEHED' @6, @ond
es &5 &8 Hthspch ST ?
(1) wesd Samd 2) €=§
(3) erdersnds (4) Soddoed
161. Which of the following is the ability to look at and understand a situation or concept from an alternate poin!
of view?
(1) Independent Aspect (2)  Social Awareness
(3)  Technical training (4) Perspective
28 HBPBD Bor FwR) HErgHimoD S%aos® SrEHdd DY) &3 808 oe3S° (HBoSod.
Iy -
(1) gelod wodo (2) ArdrRE oSmdES
(3) R385 e &y E%a0
K-13241-P11-ET 38-A
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163,

164.

165.

TUemimsmssassea s weaw pLVERS SRy Ao dticALGN Com

Ethics is the study of what is right or wrong in ;
(1) Human Conduct (2) Philosophical Conduct

(3)  Moral Conduct (4) Logical Conduct
N8 3o wlo &5 DB $BGSH BE iy ©3 T eiigoio.
(1) Sm55 $5GS (@) S83EHGS

(©) sesssys @ SBSHIS

il, right and
Ethics seeks to resolve questions of human by defining concepls such as good and evil, righ
wrong, virtue and vice, justice and crime.
(1}  Philosophy (2)  Psychology (3) Loyalty
DBTHo Sod: Beh, Sy SO0 22, Gho Hobodn SO, 8
REgDeD SR TEO° a3 mf%aﬂ.ﬁm:aé HoHByPos.

HLS
(1) eSegeio (2) SodJesgERo (3) DRaHes S

(4) Morality
egado SaBain Hto erotl ZIPadeNd

g i ip wi ird term as the
Choose a term from the alternatives given below, which bears the same relationship with the th

relationship that the first two terms bear.
8005 ARYS Fned Tochy Hore Mgy Heret Howolio &ofS werotd HooGrRl)

SR SO ol E8EY 0.

EQPSOLIXN : EliE_fQ_S\—]ﬁN 1 H@T : :

(1) HEERTBAAT (2) HAERTBAET ((3)) HAABTREET (4) HAABRTEET
AR ETIET

Answer the following question using the symbols given below.

Baess Hsodd® EOBD

‘A%B" means ‘multiply A and B’
‘A@B’ means ‘add B and A’
‘A#2’ means *square of A’
‘A*B' means ‘divide A by B',
The sum of the area of a square of side 5 units and the area of a circle of radius 5 units is
S0 5 8ods F3GDES HEthed &HBrHod) DAy,
‘A%B’ @0 ‘A S38ck B &5 thedoshswy’
‘A@B’ @0 ‘A3 B d Lrchodn’
'AH2 908 ‘A g S¢sw’
"A*B’ @08 ‘B 3 A 2o’

5 g e ey Sekosi

(1 SH2*22@79:542

(3)  5*2@228785+ S#2@22%7%5#2

(4) 5#2@225%7*5#2

K-13241-P11.7
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A Number 1,
as the Iro

! m the alternatives
l‘r.‘lntmnxhip th:

given below, which bears the same relationship with the third numh,,
I the first two terms bear,

Socs
% WS Swcsed Bocsy Rowge Bcig derotd Soeotso ol werotd omom SIPES Hong® Kon
PRI D Mood €6E5,08.

6:]5::35;‘?

() 55 ) 91 (3) 143 77

How many members can be nominated to Rajya Sabha by using His/Her powers of President of India 7
W0 U908 &5 BsTorOR SHBEPAD Jod ol Benpges oregdess dasrigo Sokifed ?

167 .

(1) 10 2 11 @ 12 4 13
168. The “Padya Shasanam” which contributed to the ancient status of Telugu language was found at
(1)  Bommalamma gutta (2) Thousand Pillars temple
(3) Phanigiri (4)  Khilla Ghanpur
Benth D OB e 058 Hieeso B0 “Besg THS6” Ny ©DoDB?
@ Baiyesy he (2) Sowg Kozre HE
(3)  $e3nd 4)  Dgegodmb

169. Which organization is planning to start larger floating Solar Power Plant in Telangana ?
(1) NTPC (2) BHEL (3)  Adani Power (4)  None of the above
o Do BBEIH BHSrE Beorb HB6 ot (Solar Power Plant) &> @eorreaes® ardofociioed 7

@ D568, 2) DIFSIE (3) oodsHsh 4 235sH

170. If *student’ is called ‘teacher’, ‘teacher is called ‘principal’, ‘board’ is called ‘chalk’, ‘bench desk’ is called

‘table’, “class” is called ‘house’. Then in this code which of the following options is wrong?

(1) Principal teaches the lessons.
(2)  Teachers sit on the tables.
(3)  Every house has a chalk,
(4) . Principal issues transfer certifi cates to teachers.
T ‘BJTHA” 68, ‘Grtrgonnd’d GrTITAN wb, SR ‘aE' @, ‘BoS
@)’ e’ w8, ‘estiia’d B’ R 1Y, 61 5%, 808 DS’ BINTRG) 0D EDB?
() SorSergatue dvovensy 5B,
@) edrorgatoen Saved eyotnts,
(3) 58 9086° T8 @oerod,

ErarErgoineh ST SVeErgatnes exad BDeyS0 28 Fecss.

K-13241-P11-ET 30A
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is a social system where men are considered superior and more pgwcffu] than women.

lT 1' e —

(1)  Hierarchy (2) Patriarchy
(3) Matriarchy (4)  Anarchy
oS> SRS SIHE® He o8 SpoLHen GBS SO0 #gSodhesr VoMBoSREEC.
(1) Avaesgo (Hierarchy) @ BefyRrgsugo (Patriarchy)
(3)  SesydrgiSogo (Matriarchy) (4) eoreSto (Anarchy)

172. Which Wing of Indian Armed Force signed Memorandum of Understanding (MOU) with IIT Madras for

Technology development ?
(1) Indian Air Force (2)  Indian Coast Guard

(3) Indian Army (4) Indian Navy
apsDE Ggea DS &0 & Deeisn T SErked® wdmoea® wijeto (MOU) 0588 esdanl 6
Hogssren Brod 7

ayeBes arain DS (2)  eptes HSng HE g &¥o

(3) erde pdge (4) epdes Fse dFfo

173. What comes in the blank place in the following letter series ?

8o midgRES BEY Fe35° 0 Qﬁnﬁ})@: 5008 ?
AT sl \ [ﬂ.!‘!" i

) R
BGDF, CHEG, EJGL g@;g,gngn.
(1) FKHI ¥ ) ® MROQ (3)  LQNP NSPR

174. Which Sportsperson was given the “Sportsperson of the year Award” for the year 2017 by the Telangana

Sports, Journalists Annual Awards Forum?

(1) P.V. Sindhu (2) SaniaMirza (3) Mithali Raj (4) None of the above
2017 BoSesySos® 2280 Beorre MDY 2505 g8 wTHeS’D Srrstoc/Smrs0ed 8 “A0]) HES
& 9aHb "eardh oPoldod ?

(1) 2.D. dotd (2) AeDOS® DT @ ogrd o°d @) PIDSD

175. Social awareness is a form of .
(1)  Antificial Intelligence (2)
(3)  Virtual Intelligence (4) Emotional Intelligence

STE SIS g, G0 ,

Human Intelligence

(1) £85 Hesdy Q) S5 Hoesdy
(3)  SEYSS (@esraades) DESy arSTaY oo =
K-13241-P11-ET A —-—-—”*"’ﬂllﬂllfll'l”
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. . z iR . Z
the historian Jai Shettt Ramanaiah, which was the first Capital of Satavahana dynasty in Tel
: Angang;

176. As per ) Dh
(1) Kotilingala 3 armapuri (3)  Vemul
588 S 8383 g&oeaahg H55°6o Beorreses® Mmﬁﬂgjd;ﬂ ﬂ“as:;fm hléﬂiapatnam
(2) &GO (3)  SSveaed @) ooy

@ E%3Dorme

es is given with a missing word. Choose the correct option that will complete the series

177. A word seri
SF (> 28 65 Fed BB, FeBD Sosirgo 55 K8GES DS Y JockHEbd

5o Dtso
Bag, Book, Bench, Pencil, __.
(1) Class @ L (3)  Teacher (4)  Student
178. In which century 1000 Pillars Temple was built by Kakatiya Kings 7
(1 ) 1 2t Century (2) 13* Cenlur}r (3 11" Cen tury (4) 14™ Cent
5 é@goﬁ‘ Saw ;;;.naw.:d:c.‘n 55805 orere TRTe Afjocserdod? £
(3) 1135 d&rgo (4) 145 dermo

@ 125 deoggo (2) 138 dErgo

the ratio of the students who passed in an examination to those who failed in
the rank of A is 23 from the top and the rank of B is 28 from the bottom. If all the students of
the rank of A then the number of

it is 7:2. Among the

179. In aclass,
passed students,

the class appeared for the examination and the rank of B is 6 ranks below

students in the class is
0.8 SEEBEE, 258 HOLS® SBHBS Derghod® S 85 v D@ 7:2. &HHBS doegheos’ Ly
G, Togoth 28. SEIBS” drrgheoe HBgS

S S0l A GBgh, Tgotd 23 HBasn e&rido S0 B
Loe308 o005 A B, Orgoth Kol 6 O°gotHe BtHSS B oogotd &08, SEHBS Dorghe Horg !
(1) 56 (2) 84 72 4) 81

the

180. Choose a term from the alternatives given below, which bears the same relationship with the third term as
relationship that the first two terms bear.

momanometer : Blood pressure :: Fathometer : :
(2) Electric Voltage

Sphyg
(1) Earthquake
(3) Depth of Sea (4) Intensity of sound
8085 RS SInded Both Howe HGY Jewotd Hozotso &ols werot H020GPRYy S0TE S H50e5 £OOS
Sord) pd)sTe ok 5085 0c.
2R S Doeb : Sgen STk :
(1) gfrgoaren (2) oods Sges
@ Bk SO @) &9 @Y, BSS
na Government?

181. Which of the following is related to “DHRUVA" Portal Belongs to Telanga
£22)  Passport Verification

(1) Land Registration
(4) Human Trafficking

(3)  Online Employment
Berorres HEHE7SI8 HowoBodS “6HS "R B3 Borofodod?

(1) ardwe ﬁmﬁ‘,}?{ﬁ (Land Registration)
2) % DE S0HIRS (Passport Verification)

(3) @S8S dogrondoed (Online Employment)

Ao esgfido Saeese (Human Trafficking) [t
i

42-A
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Every year, on which day, “Kargil Vijay Diwas” is celebrated in India ?

(1) 13" June (2) 26" July (3) 13" August (4) 26" September
58 HoidSo TrESBTS” D B ‘58S Deach BT ySo (DesckH HBK)” tsyHotrtd ?
(1) e 13 @ e~8 26 (3)  eario 13 (4) omb 26
Which language was officially used during Satavahana Kings Period 7

(1)  Sanskrit (2)  Prakrit (3) Hindi (4) Telugu

b g Trere 5008’ O N ©RS8%r &h@rNodartd?

(1) Hodydo @ s (3) 2wod (4) Senth

With which Multi National Company, Telangana Government signed a Memorandum of Understanding
(MoU) for Digital Telangana ?

(1) Amazon (2) Microsoft (3) Facebook (4).  Google |

9 eodgrBoh HoHE° Beoorres Hafdgo tetrd Beorres E6DH B>BnorolSs @S woEbrodoh (Mol)
SHed 7

(1) eers @) PETH @) DHews tisS

Which one of the following diagrams best depicts the relationship between irrational numbers, integers and
rational numbers ?

208 Dgros® A8 E6edah Somgen, Jrgrosten HHBAH) eEEECSH Sowge G HowoLr)) &ddorT
58008 ?

m @@O

(3)
(m (4) ~ None of the above / (2352 sv&))

3 of the 4 alternatives given below are related in a certain way and so form a group. Find the alternative which
does not belong to that group.

8085 S Srenth Hergirmaired” Surd Hergsmosren 2l BF Sroes® HozorR)y £OH &otitio
58 a8 SiSarirorm yderan. & SRIFE Dot BEGETAERRY E5E%,08.
@) Cube (5950) (2)  Parallelogram ($&5wod6 Sefotpyeso)

(3)  Rhombus (orof) (4) Rectangle (&g Sehasigo)

187. The total number of triangles in the figure given below.

St aigadis He30s™D Ineo BeHere Rog,

AR\
o i @ ¢

K-13241-P11-ET
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158, refer to the ability to guide others' emotions and thf! way they act.
(1) Communication Skills (2) Cognitive ?kl]fﬁ
(3)  Technical Skills (4)  Social Skills
BSE S300 arSEgmes SHbak T $55R00S DTTRY &rgddo 3D HFEFN
eagdyoidy,
(1) S5argERS 2,65 @) shEsSHSH
(@) RMEHE S,

3 eSySns

189, What should come in the blank place in the following series ?

$otS miSGeIAS 636 grd 508" DD 0BT |

ke £
C:'{|5EV,FU4SHS,lRQQKELGlﬁSNM. .

@ OL 255Q1] (2) NK237TML (3) RU255ST (4)

190. Identify the name of the Governor who inaugurated the Kaleshwaram project in Telangana ?
(2) Tamil Sai Soundararajan

(4)  None of the above

MQ273LM

(1) E.S.L. Narasimhan

(3)  ND Tiwari
s J43060 -85 S Frbor¥ySo BV Beorres HSHD D (HBocSods.
(1) ESL36RonS (2) S Arow ArocsBoreS
(3) ND &8 4) 3D s%dH

191. What comes in the blank place in the number series given below ?
o A 7
gogﬁ?d.ﬁ Koy Fe3S* g d Ardod® A 55008
Lt 11,22, 46,90, 160, :

|,..;'__‘.;""" ;"‘t\fﬁ:
) aﬁ{{}\ﬁ @) 295 @ 240 @ 330

192, is/are defined as subjective responses to experiences in our livin g environment?
(1) Intelligence (2) Emn&iuns {3)  Cultural (4)  Philosophy
03 2858 TSN hesare (subjective) DEJyociSenrr girosaizron.
() S8 Seen @ erSdgmren (3)  Rrodyydy (4)  ordses )

SotS 2V renth & 5
DTS Kames) SeErgimairen 2.8 A8 SG0e5*® Soerored) €O ot

194. In a certain code , ‘na ja ba’ means *
‘ k o me & ¥ i L
means ‘some bad men’. Then the code for ‘many bad people’ in tlf;s cnd: T: - R T i T

28 D028 5 ‘naja ba .
; Eﬁd = ; a &oé s0me Eﬂﬂd PE'UFIE.':’ ‘ba sa }n’"&]1|I eok] ‘I'I’]Eln}' g{_}od men’ S8y I Eg{:lt"j
so0m men . e20ed & ggg ‘mﬂl'l}' bad Fenplﬂ‘ ﬁngzr gﬁg a i

(1) ranasa (2) varasa
me[&shienach@}@m nar
araya
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195. P, P2 Pa, Pa, Py, Pe, Py are seven different houses situated as described below,
(i)  P2is 6 m. away from P, in the South of P,.
(i) Psis 15 m. away from P in the East of P,

(iii) P is ﬁﬁ m. away from P in the North-East of Ps.

(iv) Psis 14 m. away from P in the East of Py,

(v) Pe is 6 m. away from Ps in the North of Ps.

i) P is 27 m. away from Ps in the West of P.

Then the shortest distance (in mts) between P; and P, is :

p,. Ps, P3, Pa, Ps. Ps. P; 8033 3¢5 DR mely oS DBBoDDS Deforr TR
@ P & S&eaor™ Py Mol 6 ghéhg Ertoss® P o,

i) PO oty BFS® P2 #5308 15 Deaf Grbods® P; &5ob.

1 :

i) P SO Ps 0l 612 B608 BT80S Py és0b.
(1]

iv) PaS hsetiyy OFS® Py iS00G 14 otog Sroes® Ps ésodd.
1

) Ps & &e§orm™ Ps 308 6 aoead St5065° P ésod.

(vi) Pt HESS BES® Ps 008 27 ool E5So&” P a0l

eso0d Py 080 Pr © Socsg e IR o (Doeages®) :

@ 10 @ 5 @ 13 @) 25
96. Match the following Slogan given by the great Indian Leaders :
- Group-1 Group-I1
(Slogan) (Leader) ,
Jai jagat (i)  Dayanand Saraswall
:::j: Ka: mat do (ii) P.V.Narasimba Rao
i iii) Binova Bhave
¢) Vedonki vor Lauto (iii 1
Ed; Desh Bachao, Desh Banao (iv) Sardar "\iallab;bhm Patel
& 208 DTrPR, @8 DSBODD oS adhfyote.
) firoe-1 thrn-11
(Raetso) (mraHEhed)
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197. Which of the following is defined as the human tendency to understand and share the feelings of another)

(1) Empathy (2)  Therapy (3) Pity 4y Apathy
6D erared oo $8% 0 SH00% HoHESEo erotd SrsdE HHED & gaﬂ:uuaa-ﬁﬁ B8oSod
@ et (2) D8y (3) ed @) embdds

198. Study the following information and answer the question given below.
‘A*B’ means ‘A is greater than B’
*A#fB’ means ‘A is not greater than B’
‘A%B’" means ‘A is less than B’
‘ASB’ means ‘A is not less than B’
‘A@B’ means A is neither greater than nor less than B,
IFPRQ#R@SST* Uis given
then, which of the following statement need not be true.
808 SSoRY ciganSo B0, Sots BHGRAS HHH SEPEEMBRY
'‘A*B’ wol§ ‘BB ADES A7
‘A#B’ ol ‘B o A DB ey A LD
‘A%B’ @0 ‘B €063 A D50 ped
‘ASB’ @off ‘B S0 A DB 5o’ P B
‘A@B’ 00l ‘B o A DB iy DA s’ B
eS3EP % Q#R @S $T*Uadys,
90 §08T7VG” DB Hefghn STSSICo B,

(1) Ss5Q (2) R*P (3) P%S Qe@Uu
%
199. Identify the Tiger Reserve Forests in Telangana State :
(1)  Srisailam Tiger Reserve only (2)  Kaval Tiger Reserve only
(3)  Amrabad Tiger Reserve only (4) All of the above

Bworres Trgye & Hene wgairderge Hodod .
(1) §3eo oo oziairoiag Sred () LS vasosrtego Sred
ofrerd vgcirtege Srgdh  (4) S

200. 3 of the 4 alternatives given below are related in a certain w: \ : .
a certain way and so form'a group. Find th ive which
does not belong to that group. QLE P e alternative whi

§bﬂ| :}Jz Iﬁjua
I;Sg El-"g “Jm o I"OTT bq ’dﬂ m. éﬂ n:l:mngis;, }é Ekll:;:! :ﬂl‘?:tl %Ig bﬂl%
L44] K E%"S&ﬁ IIh'tl-

(1) EGB 2 KMB 3) QsB 0SB
~0Do-
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